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ENGLISH VERSION

Instructions : (1) All questions carry equal marks.
(2) Answer all the questions on the basis of internal
option.

1 Explain the concept of opportunity cost with the help of 14
illustrations.
OR
1 "Increasing returns and diminishing returns are just like 14
two sides of a coin" - Discuss.

2  Explain the concept of fixed cost and variable cost with 14
the help of illustration and diagram.
OR
2  Explain the concept of average cost and marginal cost 14
and clarify the inter-relationship between them.

3  Explain the advantages and disadvantages of expansions 14
size of firm and industry.
OR
3  Explain the marginal productivity theory of distribution. 14

4  "Rent is incurred if there is surplus over transfer 14
earning” - Examine the statement with reference of modern
theory of rent.

OR

4  "Profit is not reward for bearing of risks but reward for 14

bearing of uncertainty" Discuss.

5 Write Short Note : (Any two) 14
(1) Law of Constant Returns.
(2) Profit and Innovation.

(3) Limitations of the marginal productivity theory
distribution.

(49) The Dynamic theory of profit.
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